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Thank-you Sir for this Amazing Class of today’s.. .

And
Answers for today's Homework are like-
1. Option C == 60..
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Homework question answer
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The top of two tower of height 48 m and 60 m are connected by wire. If the wire

makes an angle of 60° with the horizontal, then the length of the wire is
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The angle of elevation of a ladder inclined on a wall is 60°. The foot of the ladder
is 9.5 meters away from the wall. What is the length of the ladder?
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The angle of elevation of a ladder against a wall is 30° and the foot of the ladder

is 8\/3 m away from the wall. What is the length of the ladder?
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The angle of depression of the base of a building from the top of a tower at a
distance of 48 m is 60°. What is the height of the tower?
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After completing the work a craftsman leaned his ladder against a wall makes an
angle O with the ground such that cos © = 63/65. If the height of the point where
the top of the ladder touches the wall im then find the distance between the
wall and the ladder. I
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From a point P on the ground the angle of elevation of the top of a 10 m tall
building is 30°. A flag is hoisted at the top of the building and the angle of
elevation of the top of the flagstaff from P is 45°. Find the length of the flagstaff

(TakeV3 = 1.732)
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Two poles of equal heights are standing opposite to each other on either side of a
road which is 120 metre wide .From a point between them on road, angles of

elevation of their tops are 30° and 60°. The height of each pole (in m) is
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The angle of elevation of an aeroplane from a point on the ground is 60°. After 15

seconds flight, the elevation changes to 30°. If the aeroplane is flying at a height of

1200 \/3 meter, find the speed of aero plane.
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The angle of depression of two ships from the top of a light house are 45 and 30°
towards east, if the ships are 732 metre apart, The height of light house is-
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a) 1000 m
b) 1500 m
¢) 2000 m
d) 16000 m
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